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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

The cakes __ ready soon. They’ve been in the oven for an hour.
® can be
* must be
* mustn’t be
* need be
Correct Answer :-must be
2)
Question Stimulus :-

Fill in the blank with the correct option.

Children ______look after their parents in old age.
* can
e could
* ought to
* ought not to
Correct Answer :-ought to
3)
Question Stimulus :-

Fill in the blank with the correct option.

We locked the gate. Then the dog wouldn’t have got out.

e can have



* need not have

e ought to have

® could not have
Correct Answer :-ought to have
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The President called on the wealthy countries financial aid after the floods

destroyed much of the country's agriculture.
e by
e at
® in
e for
Correct Answer :-for
5)
Question Stimulus :-

Fill in the blank with the correct preposition.
The crowd backed ___ when the man pulled a knife.
* towards
e with
* away
e forward
Correct Answer :-away
6)
Question Stimulus :-

Fill in the blank with the correct preposition.



She backed out of the agreement______ the last minute.
e at
* from
* for
® in
Correct Answer :-at
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

He sat me discuss the problem.

* beside, to

® besides, to

e with, for

e behind, to
Correct Answer :-beside, to
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* A idle brain
* is the
® devil's workshop.
®* No Error
Correct Answer :-A idle brain

9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* Nile is longer than

e any other

® river in the world.

®* No Error
Correct Answer :-Nile is longer than
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e He graduated

* with an second-class honors

* degree in physics.

®* No Error
Correct Answer :-with an second-class honors
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Have there ever
e been a war
e in the United States?

® No Error

Correct Answer :-Have there ever

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Democratization have brought workers

® the right to strike

®* and join a trade union.

®* No Error
Correct Answer :-Democratization have brought workers
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

®* Unless Mohan takes
e proper care of his health,
* he will not recover.
®* No Error
Correct Answer :-No Error
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ The bird would have
e died if you
* had caught it.

® No Error



Correct Answer :-No Error

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e My Parents and relatives will come to pick you
® as soon as
¢ you will reach Mumbai airport.
®* No Error
Correct Answer :-you will reach Mumbai airport.
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Nelson said, "I was playing cricket”.

* Nelson said that he had been playing cricket.

®* Nelson said that he has been playing cricket.

®* Nelson said that he have been playing cricket.

* Nelson said that he was playing cricket.
Correct Answer :-Nelson said that he had been playing cricket.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to his students, "Did you not like my story yesterday?”
e The teacher asked his students if they did not like his story yesterday.

* The teacher asked his students if they did not like his story the day before.



e The teacher asked his students if they had not liked his story the day before.

e The teacher asked his students if they have not liked his story the day before.

Correct Answer :-The teacher asked his students if they had not liked his story the
day before.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Peter said “Alas! I have broken my brother’s watch”.

¢ He exclaimed sorrowfully that he has broken his brother’s watch.

e He exclaimed sorrowfully that he have broken his brother’s watch.

* He exclaimed sorrowfully that he had broken his brother’s watch.

e He exclaimed sorrowfully that he had broke his brother’s watch.
Correct Answer :-He exclaimed sorrowfully that he had broken his brother’s watch.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are stories written by you?

e Do you write stories?

* Did you write stories?

e Have you written stories?

®* Are stories being written by you?
Correct Answer :-Do you write stories?
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.



A cup of coffee was brought to me by her.

e She is bringing me a cup of coffee.

e She brings me a cup of coffee.

e She brought me a cup of coffee.

e She was bringing me a cup of coffee.
Correct Answer :-She brought me a cup of coffee.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Grammar is taught to us by the teacher.
* The teacher teaches us grammar.
* The teacher is teaching us grammar.
® The teacher has taught us grammar.
® The teacher taught us grammar.
Correct Answer :-The teacher teaches us grammar.

22)
Question Stimulus :-
Fill in the blank with the correct option.

We've been having problems with the new computer.
* a little
o little
* the little
* afew
Correct Answer :-a few

23)



Question Stimulus :-
Fill in the blank with the correct option.
Could you please pour milk in my cup?
°* few
°* afew
* little
* a little
Correct Answer :-a little
24)
Question Stimulus :-

Fill in the blank with the correct option.

The government has done or nothing to help the poorest people in this country.

* little
* a little
* the little
o few
Correct Answer :-little
25)
Question Stimulus :-
Fill in the blank with the correct option.

We have money, so we cannot pay for the farewell party.
°* few
* the little
* a little

e little



Correct Answer :-little

26)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What does the word ‘slaughter’ mean?
® Victory
® Return
e Killing
* Unity
Correct Answer :-Killing

27)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.



As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What would be the most appropriate title of the passage?
®* The various forms of music and dance.
®* The outline of literature.
e History of civilization.

e None of the above.

Correct Answer :-The outline of literature.

28)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

Before the invention of writing, in what form literature existed?

e In stories and legends



e In Dancing and singing
e In yells and prayers
®* None of the above

Correct Answer :-In Dancing and singing

29)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient

people, there were only a very few individual who learned to write, and only a few
could read what was written.

What will be the synonym of the word 'utilitarian’?
® Useless
e Useful
* Harmful
®* None of the above
Correct Answer :-Useful
30)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the following questions.



The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What led to the invention of writing by man?
®* The need to record and communicate.
* The need to rejoice
®* The desire to write more war songs

* None of the above

Correct Answer :-The need to record and communicate.

Topic:- Hindi
1)

Question Stimulus :-
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o T farerah

o Sfigq & fIe J&w T

o 3w fRam

* FISAIRT BT g BT
Correct Answer :-silaq & foe &y a9 1
2)

Question Stimulus :-
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Correct Answer :-g14 d $1f &1 & R A B
3)

Question Stimulus :-
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gt o fora Igza @ Rram & wrdt 82
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o fRiféa s & Ry

o iigd # 9&H I F g
Correct Answer :-sfia ®I H& 1 & fog
4)

Question Stimulus :-
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Correct Answer :-gi @I faféa &1

5)
Question Stimulus :-

Wmﬁmmwmﬁﬁaﬁﬁmuﬁﬁﬁﬁwmm
|
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* gARfER
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Correct Answer :-gAffaR
6)

Question Stimulus :-

Frafafaa s o aryde yget 39 i G T sgfawad uxal o 98 fawen &1 999 &9
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T PT UGIFar) WG 3-

o gudt

o [uT

.

. TR
Correct Answer :-gdl
7)

Question Stimulus :-

Frafafaa s o wryde Teet 9 Y G T gfawad uxal o 98 feen &1 999 &9

I Uit @ 99T, 39 HU 0PI R
8 gt HAT $ e[ 91 &,

THH O P} &HaT F A dA F,
TOH WG AHAT b g 4 €,

o STa 9F R Y@ gt wad
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TH ST 918, o1 8 uTd

B9 Rt § 71 9 & g Fgar @ 2

die IR & forg

@ 99 & fae

AT, HACT 3R &HdT 91 & e

Hidt & g 919 & fog

Correct Answer :-THdl, HHdT 3R &HdT 94 & fg

8)

Question Stimulus :-



Egﬁ@amaﬁmwmﬁﬁﬁnﬁmwﬁwmmm
|

T Uit § age, 39 qHe IHT § |
T9H g=it IHAT $ o1 99 §,

T S P & F IR 9§,
TH AIFE THdT & I 9 g,

forad I 9 T Y g vad
HFadT Bi-siia= 49 q g9 fazmi|
TH ST 1A, o g1 T

e wad” frd a1 w22

* HHEGdl B

* gradl Bl

* HHAT B

* 39 &I
Correct Answer :-HHddl St
9)

Question Stimulus :-

Fafafaa srenw o aFYde ygae Sue A 3 T sgfawadt uxal ¥ Odt fawen &1 9a H)

I Uit @ 99T, 3 U 0PI §
T U= 99T $ e 91 €,

THH O B} T F A dF
TOH AIFE AHAT &b g 9 €,

o STa 9% R 4@ gt wad
HFadT Bi-sia 99 F g fe=md)

T ST I, o g T



fe=me w9 yoa g
* 9 Gied PH Aewre
* §§ AT 9 SN
* Tq YdF T S HIGAT T it
* q YRl ¥ M
Correct Answer :-9d H19d %97 S0

10)

Question Stimulus :-

Frafafa s @ aryde yeet 39 Y G T ggfawad uxal o 98 fAeen &1 999 &9

I gt @ 99T, 39 U 0PI §
T U= 99T $ e[ 91 €,

THH S B AT F I TN §,
SR HIE 99T & g 99 3§,

R e I R Y@ ged vad
ATHaAl Bi-ofta 99 F 59 fa=mi|

T ST GG, 39T & U

B Y TGUT ) FT BEPT THRT 8-
o AR
o IAuHfa
o TATH
* IATHY
Correct Answer :-I@udfa-t

11)

Question Stimulus :-



HHd BT Uargard THg en-
o TP, TS, Ioig

U, TR, $g
* e, TS, AR
Correct Answer :-U®sl, IS, s

12)

Question Stimulus :-
IR & AT PH-PT A S ?

o Sxg-fidy

° YRYdI, THiaM, AT

o ugHH, fafa

o Wxa,fy R Tygaa A
Correct Answer :-3t=a-fada

13)

Question Stimulus :-

frafafea d§ @ sreadivreg 99T $1 TP SqERYl -9 § ?
o W3
* HwH
o RIgmR
o TRIE
Correct Answer :-URI&

14)

Question Stimulus :-
o fawedt ¥ fadiw &1 9g s g fea wiF @1 Eoff S
“$o¥ ogad Wt g 8iiX ... aft, TEqor +ff @ iR fAwjor oft ~



i

* 3IUPC
o e
Correct Answer :-3/&ad
15)

Question Stimulus :-

oq fhell B Srdid URIAT & fQ IS 9T Tgd TET-TGTHR YAl AIBHIAT BT IreTd HIeb Pl WY qd
TBleverrrernnnns APR BT gl

o IfN®
o yifqu
Correct Answer :-3sifawgifad

16)
Question Stimulus :-

o dfdmal § $H-91 SEPR 372

¢ W A AYR 7Y, 7 e afe s
K Bl § o JeAt, ST B gara

* 3T
* TUP
o IMET
o IifaT
Correct Answer :-3Riifad

17)

Question Stimulus :-



o dferat & FI-wT g B 2
PN BIB] Y7 &, HIUA PIH! T |
WS a9 G B, SN SO H A4

* WRaT
o Jewral
o T
o ghiifae
Correct Answer :-gigl

18)

Question Stimulus :-
.................... U P TP WU § 16 HHE gt &1 98 THATRS Tg &1 vyH 3R i i & g& gu= g

o IdTEl
Correct Answer :-3Urg

19)
Question Stimulus :-

o dfmal & s1-a1 9 82
Wl da@t |l Bfedt|

& af ura fag ga o <ar wa o WAt
ol ¢a wAfafE 8§ 9% Hifs Sfe amal
UTd 364 A1 A1 dsdi ArE- At Hidi|

® IMd I
® HEUI I

* YR



® diged I

Correct Answer :-dicdd 39

20)

Question Stimulus :-

e fde
o 3fa
Correct Answer :-J[@m

21)

Question Stimulus :-
Yoa® $1 & fhaqd Ug i 82

* IR
o
e @
e U
Correct Answer :-g

22)
Question Stimulus :-
"W HEIHTH F I -
* gorfier
o goriyaTe fgadt
o UfEd giiver ware fry
o T A IS T



Correct Answer :-tfsa giiter ywmg fry
23)
Question Stimulus :-
S TR BT 799 BIfoTe-
* U IST SUANT IR B
o IS FST IUANT R4 B
o fifga m @ &l
o T A I T
Correct Answer :-379 9§ &S T81

24)

Question Stimulus :-

fu fafea 6 arein & & uyw g sifaw fAfda &, v ot 3fua w0 ¥ afRya st
(1)- T A ser T 8 fp
(7)- BI U &t 3% S UTal ¢
()- M aga gl € fbg 379 A
()- FifP ifoe fwal | fawa &
(T)- WA B I & TTZP
(6)- WA & Ufd I g1 APal g
e Y dd
e ¥Ydd
e dqX Y d
e ggqdvx
Correct Answer :-a339d

25)

Question Stimulus :-

o fafaa 6 areai=n # @ uyw 9 sifaw A3 &, v & 3 $H A sgafRuE el



(1)- sfafy
(a)- fAféa wf¥r s
(})- & WIS YT 35 &l
(9)- 39 UST IRe §9 1 BT
(9)- gfaem & dea
(6)- F¥ars Iduy" WwiT A 3= g ol
e gvdd
e 99 d
e dYgdx
e gquv
Correct Answer :-¥dqd
26)
Question Stimulus :-
3RS AT BT TG BIfTQ|
o WAFAAI-HUT | UTOT Ja aret
o ARl & W d PR A
o TP fA & Wdwfe sawmrr Bt Hivon & 71
o IS 3fe Tl
Correct Answer :-&I3 Ffe 78t
27)

Question Stimulus :-
“Supervision” @1 f& vufy g-

o Udda®
o THqET
o fyada
o 3iftrspror



Correct Answer :-tddgmr

28)

Question Stimulus :-
e arrie & fo v wsg &1 9u B 2
“faermerg # sfrrer A aren”

o fadiuy
* TEP
* JAID
* JHGgD
Correct Answer :-9d&®

29)

Question Stimulus :-
“IUHY” e & oI arayi=r &1 99 BifeTg|

o St yHU A R T @
e WA F ARG
® Y AT 7 ST Hb
o T A P T
Correct Answer :-f YH101 & R 7 8

30)
Question Stimulus :-

“g% W o e #3A arenr” - arei F e U 2ee garsd |



Correct Answer :-3guild

31)

Question Stimulus :-

"R A 31 dR § 7 9 & 9mA ot 98 geRa § o9-91 919 3§
* HIYR qr]
o Y qH
o iy R
o T A TS T
Correct Answer :-fiy ar
32)
Question Stimulus :-

g TuRY 9/ 9 Ay I/ # Tefe-
vyrfaT=ITet B Terd 217

o g5 Nfaament 3 3R It @t Ferdt 2
o Sl fd=med g¥ar 8, S Y werdt 7
o I I
o T A IS T
Correct Answer :-I Iifamelt giar 8, It o T 3

33)

Question Stimulus :-

BTl T 3T & TTAd fAbeq &1 Ig= Pifore-
o T
o TP
o Tt
o Bfd



Correct Answer :-gt

34)

Question Stimulus :-
MBI e 3’ P TE) fadey &1 9 Hifore-

o y&

o 3ard

o Jad

o T A I T
Correct Answer :-

35)

Question Stimulus :-

g 7 oftaq @ % 3ma) ugw 97 99 @l Jeq # & @t §1 aaR A, TS | T AT BT SAHIRI, 7
U & Y T 987 BT 90T 7 UPTd BT 3T A4 $T 3G 7 qY-fia-11 Iae, v uren & fKiar, S de &
fire g5, e 3R wSTE TSt 9% P &

SUYad TR BT AT Piforg-

9T Sfteq @1 fagam ¢ o foe fA-3a a1 u |

P g1 9 IoTell | H WG aR
o G faw sTUa T8 fRrue v@d Yo
o TR f37 FEg wie R R siusdr smma
Correct Answer :-R97 Sfiigq a1 faga & s e fea-vra d==n u2 )

36)
Question Stimulus :-

“TP UY g Bl o1 3 -
* 3P B HRAT
o HI HI T T B, JHaAT
* TS WY QY

* TH T4 & UG UG H=Al



Correct Answer :-T& 1Y &l @Y

37)

Question Stimulus :-

ArpifeRT gt 2-
o U oy Ifaa
o Tw urde Wyl arR
o T T
o T A IS T
Correct Answer :-t& 91d® ol a1

38)
Question Stimulus :-

“fuf & Tag - e ot 9 N B 39 U F I U @-
o IR faT # Aie 6T SHAH @
* U & 3ATH oferl & a™
o IuSt IR q-al
o Ead & fa-is &1 AERT
Correct Answer :-g§ad @I faq® &1 TgRT

39)
Question Stimulus :-
“BT-FO1” TG-H & WE! 3rf-0g BT 74T Hifere-
°* IHYAIG-ToR
o 3IDY HiH-RATE
* HIER TGfd-Feaard!
o U | BIg TE
Correct Answer :-3fJF HIeH-Earg

40)



Question Stimulus :-
“F-YAT -G & el 3rd-Ug &1 a9 Bifor-
o FHRI-yE
o giftaw
* TER-THR
o Frfu-thad
Correct Answer :-®fi-aq

41)

Question Stimulus :-
Hgarht & H-91 THN -

* dgEy

 f&1
HHYRY

* §g
Correct Answer :-#H4RY
42)

Question Stimulus :-

Tid I BT VIR YT 7 82

* 3Nl

Correct Answer :-fAdg

43)

Question Stimulus :-



“Io3 FARIER ®e® SIURT, IGRRAFT 3 98 URTI
fafafRr wifa a8+ Iy 9, faga _4 vaTe e AT
SR UfR e &g T Igrervr 22

o I
* HRSI
. g
o gral
Correct Answer :-dUrg

a4)

Question Stimulus :-
R 2reg 1 WY farsde ghm-

o U+

o I+

o I+

o T+
Correct Answer :-9q+f¥

45)

Question Stimulus :-
frafafea & & o119 91 W o= @i a1 749 372
o grftw
o fquras
* I
* 3l
Correct Answer :-faurgs

46)

Question Stimulus :-



Correct Answer :-g<
47)
Question Stimulus :-
“gg UX UgdT dl AT 8 @ W A........ gl
o o a
* Y[ ar
* HH a=
e H | B TH
Correct Answer :-%H ard

48)

Question Stimulus :-
o faweul & @ SR a1y &1 Tuq Pifvre-

* AT AH e §
o RN A 3T W Melt gas W W 79 Fpan
o TS FRIfadl BT TH U PRI 3 8
o T yToft HY sk g aife
Correct Answer :-R®R 7 39 W Ml Tars R W 79 A

49)

Question Stimulus :-

“Riy=a1 faga ik srutg, v fMaiRia &1 Sxame” # ruRu o 59 3 3t a2



Rig=wm
o fawqa
* 3TE
fawqa iR srurs

Correct Answer :-faRqd 3R 3riTE

50)

Question Stimulus :-

“airEl # gdf BT gerar 1 wal o g-
o 3 BA ST
* HHUSI I
o 3 W TS &
o 3ifE 3=t g
Correct Answer :-gqus! gl

51)

Question Stimulus :-

“HH 9 A9 / R AgAM” Adifad o1 agt o 3-
o gF & WTY GEATYUl HTER BT
° SERHI et TSl
o I Bgd® AfAfy TPR HI
* TRl W 30 fdaR dig=r
Correct Answer :-SiaRcwl T ISl

52)

Question Stimulus :-
‘&’ quf fpad sraifa amdt 22

* A WX



Correct Answer :-Jgad qui

53)
Question Stimulus :-
o’ i B A BT TR RIF -
o 33y
* Hou
* T
o gwiray
Correct Answer :-3iitsq

54)

Question Stimulus :-
P A 34fre STl @ o4 U B-

* 3FAMR
* JAMR
* U
o IF gt

Correct Answer :-3ad 9t

55)
Question Stimulus :-
il & Iuwf 3-

eV

e ufa



e W}
o TR
Correct Answer :-ufd

56)

Question Stimulus :-
‘Prer & yaa 2

°q

* 8iq

* @I

® Pl
Correct Answer :-31q

57)
Question Stimulus :-
fa & @ f5w g # “amar yoa 61 72
o fam@mar
* Terdl
o dmar
* Ydrdr
Correct Answer :-drar

58)

Question Stimulus :-

g & & 94 9T Meg W1 IS T 8] 22
® el
o ASHI

] 31?



°* JIH=<
Correct Answer :-31<

59)

Question Stimulus :-
A aye @ 98 A g7 = fRre-

Correct Answer :-3fgar

60)
Question Stimulus :-

e Uy & WTg-gW & 98t Srf-Yg BT Tu Pifore-
SITEA- ST
* YII-derdl
o SmHfd-gar
o Tg-amHfd
o gAR-HA
Correct Answer :-g3-3H3d
61)

Question Stimulus :-

TR, SRR, Wt A g § @ Rrwd watoard 8
. Hw
o gRfra
o s

o Hfvr



Correct Answer :-Afor

62)
Question Stimulus :-
ST &1 gaigardt 3-

* 3G-Ir

* %

o I

° IH
Correct Answer :-3(G-1
63)

Question Stimulus :-

faeiw wreg &1 99 #R Naa T uike-

° T®H
Correct Answer :-®d

64)

Question Stimulus :-

e ® @ 9 91 v g fRudards & 82
o HU-od
* FHI-AY
o Hg-afg
* FHfeA-TRa



Correct Answer :-3g-3ifig

65)

Question Stimulus :-
a # ¥ T« ghe-

* TGR

* TS

o
Correct Answer :-Td
66)

Question Stimulus :-

o & § o 91 3= Toga T 2
o Ty
° uisT
° AT
* 3¢
Correct Answer :-THg

67)

Question Stimulus :-
&S yrar #t Siferat & Fffevor & YR TR SIS el 8-

o Rl
o ufdeht &
* ugrSt fodt
o IS
Correct Answer :-gdf &&

68)



Question Stimulus :-
TRt faft &1 faera gan @-

. ogd
o Jatft
o wTeht
o HrTeh
Correct Answer :-sgft

69)

Question Stimulus :-

Correct Answer :-3a=arR}

70)

Question Stimulus :-

&S 3 WAurRe v A IwHTNT F Gifva fmar
* 573 1919
o 14 f¥amr 1949
o 14 f¥amr 1939
e 11 RyaweR 1949
Correct Answer :-14 Rramr 1949

Topic:- General Knowledge
1)

Question Stimulus :-



Bull baiting (Jallikattu) is a traditional game in / “g¢l afear (ﬁﬁﬂ?) ------------- Canycag UTRIRS Td %:
e Kerala/ &vd
e Andhra Pradesh / Sy
e Karnataka / $lc®
* Tamil Nadu / af¥d 18
Correct Answer :-Tamil Nadu / 9ff@ ATg
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / IEe k|

fareme 3R 9 fRw U st & A I W BT T B

List-I List-1I
1. Jharkhand a. Kohima
2. Assam b. Bhubaneshwar
3. Odisha c. Dispur
4. Nagaland d. Ranchi
gfa-1 gf-11
1. IRGS a. PIfgHT
2. 3 b. YaAR
3. ISl c. floagR
4. TS d. it

® 1-d, 2-c, 3-b, 4-a

® 1-d, 2-c, 3-a,4-b

®* 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-



Which is the planet nearest to the sun? / ?I!f & Fvcan o a1 ug?
® Venus / Y
e Jupiter / Jfex
® Mars / HTd
® Mercury /g
Correct Answer :-Mercury / g4
4)
Question Stimulus :-

How many members are there in the SAARC? / SAARC s | '\‘E@ &t e fea-t @T—ﬂ

g2

Correct Answer :-8

5)
Question Stimulus :-

In computers, Windows is a type of ./ PR ¥ fdeid @ UaR &1 gl

* Software / AFEdAR

® Hardware / TIEAUR

® Both / &l

® None of these / §T0 & ®Ig gl

Correct Answer :-Software / 91GedaY

6)

Question Stimulus :-



Yeasts are classified as members of ___. / @R &I & el & U H HTFW
far mar 71

® Fungi/ ddd

® Bacteria / \_rﬂ?ﬂ't[[

® Virus / dIgH

® Amoeba / 3HiaT
Correct Answer :-Fungi/ #d%®
7)

Question Stimulus :-

India's first atomic reactor was ? / IR BT UYH YIHIY[ Roaex Tl
® Zerlina / SRfeHT
® Apsara/ UIRT
® Kamini/ SIH-
® Dhruva/ Yd
Correct Answer :-Apsara/ 3Q&RT
8)
Question Stimulus :-

The best coking coal is mostly obtained from : / I ST BIHPRI HIgA HEd:
T8l | U g1 8:

® Neyveli / Addt
® Raniganj / IR
® Singrauli / RimRieh
® Jharia / IRAT

Correct Answer :-Jharia / i@l

9)

Question Stimulus :-



Which is the capital city of Uttar Pradesh? 3xRR ST Bt IS §?

® Jhansi / ETI'\‘ﬁ

® Lucknow / €T3

® Allahabad / Sdgldlg
® Kanpur / ®TYR

Correct Answer :-Lucknow / TG

10)
Question Stimulus :-

Krishna Raja Sagara dam is constructed on the river

Aot foar wan 81
e Tunga /M
e Kali/ ®Teit
e Kaveri / STdd
* Sharavati / TRTad!

Correct Answer :-Kaveri / B1a31

11)

Question Stimulus :-

T4 R PUIRM IRR TY BT

Moti Masjid is situated in which of the following cities? / Hidt Aafese 9 O 3 feg e @ g %?

e Indore/ sa?

® Mathura / HYRT
® Agra /3T
e Kochi/ i

Correct Answer :-Agra / 3IRT

12)

Question Stimulus :-



Pench Na!:ional Park is located in which State of India? / i QT@TIGEIF[ URd &
fra g o fRua 82

® Uttar Pradesh / 3xI¥ H%QT

® Madhya Pradesh / HH e
® Chhattisgarh /Tﬁ'ﬁﬂ"’l’é

® Mabharashtra / HEIRTY

Correct Answer :-Madhya Pradesh /A UH

13)

Question Stimulus :-

Find the odd one out. / 9 & ¥ faww g+|
e Andaman and Nicobar Islands / [USH 3R FAPER glu qHqg

Gujarat / [oIRTd
Pondicherry / uifgast

Chandigarh / ©SNI¢

Correct Answer :-Gujarat / J[SIRTd

14)
Question Stimulus :-

Sri Lanka is called as 2 / SfdpT B el SITdl %?
e Pearl of the West / Uf3[H &1 1|

® Pearl of the East / YRd DI ATt

e Pearl of the North / 3<R T HIcil
* None of the above / SURIGd P gl

Correct Answer :-Pearl of the East / Q§ T Hldt

15)

Question Stimulus :-



Which of the following countries is called as 'Land of the Midnight Sun' / E_FIﬁ' ¥ fog g & “ds e

firgrTge W= @t ST @

* Belgium / Sfcorad

® Germany / S

® Norway / ard

® Greece /M
Correct Answer :-Norway / ATd
16)

Question Stimulus :-

Laxmirani Majhi is associated with which sports? / a&tﬂ?r:ﬁmgﬁm@a > mqﬁgﬁ %'?
® Boxing/ 'ﬁﬁa’_cl'ﬁﬂ'

® Pole Vault / CIE) Pa
® Shooting / Qﬁ'ﬂ
® Archery/ ?ﬁ?ﬂ'ﬁﬁ

Correct Answer :-Archery / dI¥GISil

17)
Question Stimulus :-

is the first Indian Test Captain to score a double century in Cricket outside India /

Tgdl YR &) WM §, el HRd & 91X fpdhe & SIgeT Wde 94147 I
® Rohit Sharma /ﬁ%ﬁ 'Q'I'Fl'f
* Virat Kohli / faRTe Pigei

® Cheteshwar Pujara / AAYR YSIRT

® Rahul Dravid / XT§d STTAS
Correct Answer :-Virat Kohli / faRTe Pigeit

18)

Question Stimulus :-



Who won the women's doubles title at the 2015 Canada Open badminton tournament? / 2015 ®-TST 3

dsfifeT gafde #, fai=g saa Raare foeam Shrar ur
® Jwala Gutta and Saina Nehwal / SATelT 7[&T 3R GIERL ﬁm
® Jwala Gutta and Ashwini Ponnappa / SaTelT &I 3R Sf3TT e
® PV Sindhu and Saina Nehwal / i at ﬁr—g 3R qrg-r ﬁm
® Saina Nehwal and Ashwini Ponnappa / qTgT Aeard 3R SfY wora
Correct Answer :-Jwala Gutta and Ashwini Ponnappa / SdTell T[T 3R SrfyT LIE L

19)

Question Stimulus :-

Who won Pro Kabaddi League 2016? / o W@' T 2016 fHFaa Sfiar?
® Jaipur Pink Panthers / STOYXY i duyd
® Patna Pirates / UCHI m
® Telugu Titans / aﬂ'ﬂ clgcd
® Puneri Paltan / Tﬁ'\ﬁ gdcH
Correct Answer :-Patna Pirates / UCHI qT@E:H
20)

Question Stimulus :-

Sania Mirza ended her partnership with which tennis playerin 2016? / 3%, 2016 'ef, i et 3 e
o RS & w1y v IEe @ 4 ?

® Angelique Kerberlf{TrlﬁlgT G T

® Martina Hingis / ICE| %ﬁﬂ

* Dominika Cibulkova / S &1 fRigemiar
® Ekaterina Makarova IEﬁﬁTﬂ HIHdlar

Correct Answer :-Martina Hingis / ATdAT @R

21)

Question Stimulus :-



The terms and describe upward and downward market _
trends in financial markets respectively. / q 3R R foxig SRl |
IdR 3R Ferd oI ugfa 1 9ui Hd B

® Bear market, bull market / TR 'Fl'm, qd HTfde
® Bear market, bird market / é‘q? 'FITm', EIT‘.»; 'Fl'm
® Bull market, bear market / §¢1 'FITﬁE', IR Afhe
® Bird market, bull market / CE) 'FIT%, qd Hifde

Correct Answer :-Bull market, bear market / & ATfdhe, §OR ATfdhe

22)
Question Stimulus :-

Which among the following is NOT a Credit Rating agency in India? / 9 # A HIF URG A SYR-UTET

Frufvor goidt 78 82
e ONICRA
e ICRA
¢ CRISIL
o SEBI

Correct Answer :-SEBI

23)
Question Stimulus :-

Who is the present CEO of Google? / T[Tl & godu digen P 8?2
 Sundar Pichai / Jez fo=arg
e Tim Cook / feu D
® Mark Zuckerberg / AP STHITT
e Jan Koum / S B

Correct Answer :-Sundar Pichai / Jj&r =g

24)

Question Stimulus :-



Which among the following States is the largest producer of tobacco in India? / frrafafea sa d @
P URA § TP &1 a4 TST ISP 8?2

® Gujarat / oIRTd

e Andhra Pradesh / 3{i$[U¢l

° Pondicherryltl'i'%ﬁ'ﬁ

® Madhya Pradesh / 'FNII'CI%'-‘H
Correct Answer :-Andhra Pradesh / 3{islUcsr
25)

Question Stimulus :-

Which among the following country hosted the G-7 Summit in May, 2016/fF% T 99 3w A 98,2016 F
G-7 Rrer w@ew smafora faar

®* England / TS
® China / ITIAT
* Russia /IR
® Japan /SO

Correct Answer :-Japan / SIlqH

26)
Question Stimulus :-

The theory of economic drain was propounded by / "§®HIH® 3" &1 Rigid 57
T ufaurfea fosar war o

® Madan Mohan Malaviya / Hg" Hig ATedrd
® Surendranath Banerjee / W‘q CET]

* R.C.Dutt /3R g

® Dadabhai Naoroji / QTGI 'mé it

Correct Answer :-Dadabhai Naoroji / GIGT HTS Ioit

27)

Question Stimulus :-



Find the odd one out / fawy araT gAw
* Gulzarilal Nanda / JeaTRIdTd Sl
* V.P.Singh / 9.9t Rig

e L.K.Advani / Td.%. 3rSar!

e I K. Gujral / 318.% oRTd

Correct Answer :-L. K. Advani / Td.%. 3SaMl

28)
Question Stimulus :-
Who played the role of Mahatma Gandhi in Richard Attenborough's famous
lza?ir%pic ‘Gandhi’? / TS TeAaR! &t uxigR fibew Wit # wgrenm with ot Y fFam Ay
* Ben Kingsley / 9+ f&vaet
® Paresh Rawal / U I&d
® Dino Morea / f&= ®ifvar
® Om Puri / 39 G&
Correct Answer :-Ben Kingsley / a1 fraa
29)
Question Stimulus :-

Who said the famous words "Arise! Awake! and stop not until the goal is

reached’? / "33, 9NN 3R 99 AP Ud TH! o9 dP qie d&d DI Ul 7 81" ° URIS e
e s Q&

® Raja Ram Mohun Roy/ TSI ¥ HIg I

® Dayanand Saraswati / GATG IXEddl

Annie Besant / Tt e

e Swami Vivekananda / W@l fad®r—<

Correct Answer :-Swami Vivekananda / WH! fdder—<

30)



Question Stimulus :-

Who was the first Indian women Lok Sabha speaker? / URd & Ugd! Afgam
AHAUT 3reaes B A2

Sheila Dikshit / =ftar feféra

Sushma Swaraj / JUHT RIS

Meira Kumar / URT $HR

Sumitra Mahajan / gf¥T Ao

Correct Answer :-Meira Kumar / R PHR

31)
Question Stimulus :-

Indian who has won the Noble Prize in Physics / HRAI foreia Wit A Aea YRIPR oitar 8
® Dr. Vikram Sarabhai / ST fapH %rmm%
® Dr.J.C.Bose / 3 9.3t 919
® Dr. C.V. Raman / ST A4t e
® None of the above / SURIGd Bl el

Correct Answer :-Dr. C.V. Raman / 81 9l.d%. 399

32)
Question Stimulus :-

Which of the following States was a Protectorate of India in the past? / fada
D AT Yd & YR BT AR I5T AT ?

e Delni/ feeedt
e Punjab / USId
® Pondicherry / gifgast
e Sikkim / fifdwn
Correct Answer :-Sikkim / Rifewd

33)



Question Stimulus :-

The present Lok Sabha is / IIA P YT %

e Thirteenth / m
e Fourteenth / iﬁﬁa
e Sixteenth / w
e Tenth / aw:ﬁ

Correct Answer :-Sixteenth / TIdgdl

34)

Question Stimulus :-

The idea of Fundamental Rights was adopted from / g ¥ 3 foaa Aifes sifterl &1 faear
STUATIT T 4T

e South Africa / ETEI'UT 3ifthapT
® China/ CiC|

® America / Glﬁﬁaﬂ

® Pakistan / T

Correct Answer :-America / 3ARPT

35)
Question Stimulus :-

Who decides whether a bill is a ‘Money Bill’? / §9T fAufg &9 ®ar & f fadus ve o= fadus &2
® The Speaker of Lok Sabha / AH FUT A
® The President of India / HTXd & IPUfa
® The Prime Minister / WTTHAT
® Parliamentary Select Committee / W?ﬂ'q yax gffa

Correct Answer :-The Speaker of Lok Sabha / AP THT e

36)

Question Stimulus :-



Which of these was virtually forgotten until 1818, when General Taylor, a British officer, rediscovered it? / STd

fafes aiftepr, 9 R@ IR, A SU®! GH: Tid & <, 99 1818 TP 579 A fHE U YR ST b7 UT?

Taj Mahal / dTSTHg
Sanchi / TTal

Nalanda / ATASl

Uttar Pradesh / 3R Ua¥I

Correct Answer :-Sanchi / I

37)
Question Stimulus :-

Who among the following was popular as ‘Punjab Kesari’ / g ° ¥ 19 vee FIY F = A
e &

® Lala Lajpat Rai / <ITdl <IToldd XY

e Subhas Chandra Bose / JHTY Tg a9

® Yuvaraj Singh / gdRTo] Rig

e Sardar Vallbhbhai Patel / IRGIR W’H’-IT&F ued
Correct Answer :-Lala Lajpat Rai / <ITd dTSTUd 1T
38)

Question Stimulus :-

Who among the following has been called the 'Napoleon of India'? / fFafafea 4 3 o “uRa &1
AUiferg” Fg1 Tl 82

® Samudragupta / IS

e Harshavardhana / E’Bf?ﬂf:r

® Chandragupta Maurya / Wﬁ'&
® Ashoka / 3=MBT

Correct Answer :-Samudragupta / I

39)

Question Stimulus :-



Which of these took the longest to build? / 3_'1'& ¥ faeT Fafor g9 &9 aug o §3ll?
® Taj Mahal/drel Hgdl
® Commonwealth Village / PIATA Ta
® Hawa Mahal/ gdl Hed
® Parliament House / §I¢ Had

Correct Answer :-Taj Mahal / dTsT Hgd

40)

Question Stimulus :-

India's former Test cricketer Deepak Shodhan passedawayon____ . / HRd & ‘]\?f T fpdpar m MY BT
IEUE DI gl

® 16 May,2016 / 16 WS, 2016

® 16 June, 2016 / 16 5[+, 2016

® 16 May, 2015 / 16 %, 2015

® 16 July, 2016 / 16 IS, 2016
Correct Answer :-16 May, 2016 / 16 {3, 2016
41)
Question Stimulus :-
Reserve Bank of India issued coins to commemorate the occa.sion of
Dr. B. R. Ambedkar 125t birth anniversary. / S §.3MR FSSH Ft 1257 srieht S
A & IUde § YR ¥erd 99 A ¥ e o fou §1

® Rs5/5%qU
e Rs 10/ 10 4T
e Rs 100 / 100 YU

® Rs200/200 *™UQ

Correct Answer :-Rs 10/ 10 (U

42)

Question Stimulus :-



The Vedanga consists ofthe_ / aET‘T '\q aﬁ' sﬁ %l
® Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / ¢4, ﬁT&‘IT, ﬁw, ATh, ?.5_6, wafay
® Kalp, Shiksha, Brahman, Vyakaran, Chhanda, Jyotish / &<, fQT&‘IT, SITEIOT, YTH T, e, 3 GL
® Kalp, Shiksha, Nirukta, Aranyak, Chhanda, Jyotish / &4, FRI&MT, fAvad, sRva®, Be, saifay
® Kalp, Upanishad, Nirukta, Vyakaran, Chhanda / ¢4, Wﬁ'ﬂ?{ ﬁﬁﬁ, HTHIUT, B

Correct Answer :-Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / &4, R1&fT, fAead, satevul, o, saifay

43)
Question Stimulus :-

Which among the following was the winner of IIFA Award 2016 for Best Film / g & @ ®19 3t 3y
fiFed 1IFA R 2016 § faotar 4t

* Bajirao Mastani / STSIRTd &I
e Tanu Weds Manu Returns / d9q a?gr Hq et
® Bajrangi Bhaijaan / T IS
e Piku / §ig
Correct Answer :-Bajrangi Bhaijaan / S5t HIEH

44)

Question Stimulus :-

Who is the first Indian woman to win an Olympic medal in Wrestling? / TQ?'& T 3ficifu® Asa St arelt ugal
HRTT Afgen $H g2

® Harwant Kaur / EW ﬂ»st
® Sakshi Malik / I1eft afere
® Lalita Babar / @ferdr 91aR

e Karnam Malleshwari/ ®0IH Heelgasl

Correct Answer :-Sakshi Malik / 91&ft #fere

45)

Question Stimulus :-



Who was appointed the Chief BREXIT Negotiator by the European Union? / QRITUTH gfa+T §RT =7 sfdde
(BREXIT) dieR fd fAgea fbar mar?

® Tony Blair / T R

® Angela Merkel / Qﬁ?ﬂﬁﬁﬁf
® Boris Johnson / T ST~

® Michel Barnier / ATs®d affuR

Correct Answer :-Michel Barnier / ATS®d a0

46)
Question Stimulus :-

What is the theme for 2016 International Mother Earth Day? / GI?R'T'@TI ar t{‘t‘iﬂ faaw 2016 & fore fawa w32
® Unite for tomorrow / d & ﬁl’Q Uhyc ﬁqT
® Earth and its ecosystems /t,[%iﬁ 3R @t yiRfRufas womedt
® Trees for the Earth /quﬁ & fag q&f
® All of the above / SURIERT T4t

Correct Answer :-Trees for the Earth / g2t & fore g&

47)

Question Stimulus :-

On which day is Kargil Vijay Diwas celebrated? / fo9 foq srfa fasa g w9 SITaT %?
e Jan 26t/ SFaRY 26

® June 26™ /S 26

e July 26th / @S 26
. Sept 26th / Ryawr 26
Correct Answer :-July 26" / @S 26

48)

Question Stimulus :-



numbers of districts are there in Madhya Pradesh. / H 'Q%QT o ﬁl?ﬁ B G-I %I
® 48
® 51
® 52
® 55
Correct Answer :-51
49)

Question Stimulus :-

‘Labour Day’ is celebrated on ./ HoIgY fqag----m - @1 HARIT ST 82
o 30t April /30 30
o 1May/1¥S
e 15t May/15¥g
* 1 June/ 154
Correct Answer :-1t May / 1 /g
50)

Question Stimulus :-

Who was accompanied by Dorji Lhatoo and Ang Dorji on a historical conquest? / Qﬁl?'l'ﬁﬁ? Sid TR SiRei (S

3R 37T SIS & ATY I U1?
® Maharastra / HEIRTY
® Andhra Pradesh / 3T Q%QT
® Kerala /®%d
® Karnataka / HAlCPH

Correct Answer :-Maharastra / HERTY

51)
Question Stimulus :-

Which of the following number is divisible by 9? / g # @ #19 H g@m 9 ¥ favrsy %?



® 7899
* 1899
® 2089
® 3633

Correct Answer :-1899

52)

Question Stimulus :-

Write the coefficient of r3 in

u'll"-IJ

7
5 5

Correct Answer - p2q

53)
Question Stimulus :-

The value of this polynomial (-8m 2 +4m-8) + (4m2-m-7) whenm =9 is
/Fam=9 A (-8m2+4m-8) + (4m2-m-7) GgUC HTUM 3

* 312
° +312
e 321
° 1321

Correct Answer :--312

54)

Question Stimulus :-



The mean weight of 6 lemons is 32 gm. One of the lemons is spoiled and was removed. The mean was reduced by
2. Find the weight of the lemon removed? / 6 g3 &1 HATLT 9919 32 ITH 3| TF g WG gl TT MR b1
fear wan1 wrer 2 | we w1 Fe W Hig &1 geF A

® 30gm / 30 UH
® 36gm / 36 UH
* 38.5gm / 38.5 UH
® 4£2gm /42 UH
Correct Answer :-42gm / 42 ¥
55)
Question Stimulus :-
What is the supplement of 56 / 56 &T J¥qR® w1 3
o 340
* 56°
o 304°
o 124"
Correct Answer :-124"
56)
Question Stimulus :-

One of the equal angles of an isosceles triangle is 809 Find its third angle. /

TUfgag AYS & RIa HIUi A A TP B0 800 g1 SHPT dIERT HIVT 19 BIFoA |
o 800
o 20"
.
o 30"
Correct Answer :-20°

57)

Question Stimulus :-



A parallelogram is represented by P (2, 6), Q (14, 6), R (20, 8) and S (8, 8). If the origin
is shifted to the pomt of intersection of its diagonals, then the coordinates of P is

TP MR Ig4s &1 P (2, 6), Q (14, 6), R (20, 8) 3R S (8, 8) ¥ a=itar war g1 afe
wﬁgﬁmﬁﬁ%mﬁgwﬁwﬁamﬁmm% GIE: R St o

¥i

H

¢ ('99'1)
* (-2,-6)

M CAR)

(13, 13)

Correct Answer :-(-9,-1)

58)
Question Stimulus :-

Area of a rectangular window is 420 sq ft. One half of the window has 1cm? grill, while
the other half has 3 cm 2grill. Then the ratio of the number of grills in the window is

TP AP R ASH! $1 87%d 420 T Bie g1 QsH! & v o = & 13+
gﬁ'aﬂawﬁ% aaﬁsgﬂ%mﬁi%@ﬁ3ﬁtﬁaﬁaﬁawﬁ%la}@m&ﬁmﬁmﬁa&mmamﬁ

e 3:2
Correct Answer :-3:1

59)
Question Stimulus :-

If the perimeter of a room is 44 meter and the height of the walls is 12 feet, the area of the four walls is equal to

. / afe Y &1 UfATT 44 H ? 3k ARl $t S 12 Wi €, IR SlaR) &1
PER F TR B




® 2112sq:m / 2112 & i

® 56sq: m / 56 T Y

* 528sq:m / 528 Tif 1t

® 264sq:m / 264 T
Correct Answer :-528sq:m / 528 aif
60)

Question Stimulus :-

A fruit seller sells a dozen bananas at the rate of Rs.72/ dozen. If his loss is 4% what must have been his cost price? /

wggjnﬁwwaﬁq%ﬁnx/ oI & X W 99T g1 afe IHP! BN 4% © O SHB! ANTd SIAd
T ?

® Rs.75/ 75 %0d
® Rs.76 / 76 3UY

e Rs. 104 / 104 302

e Rs. 68 / 683U

Correct Answer :-Rs. 75 / 75 303

61)
Question Stimulus :-

SONAR makes use of / R FHST SUART Hdl §
o Ultrasonic waves / WY a3
« Light waves / U®TRI a3
e X rays / WW
e Microwaves / J&H a3
Correct Answer :-Ultrasonic waves / IRT4H aql

62)

Question Stimulus :-



The electrical resistivity of the material of a conductor depends on / Il #I It st ﬁ?ﬁﬁ PICRCEEI AW
R ol g

e jts length / IT®! TS
* jts area of cross section / 39® IR PIC WX

* jts surface area / 39 Ui &%d
® the nature of its material / STP! ATHA Bt UPHfd T

Correct Answer :-the nature of its material / IU®! ATHA Bt UPHfd W

63)
Question Stimulus :-

In the figure, the ray PO incident on mirror AB gets reflected along 0Q. When
the mirror is tilted by 1090 to the position A’B’, the ray PO gets reflected along
0Q’. The angle 0 is / 3THfd H, 60T AB TR SR febeur PO, 0Q & 1Y Wrafdd gl 2l
wa&%1o°ﬁ@rﬁm B’ R YT W1l g, Al for PO, 0Q’ & WY Wafdd g1 &ird 7l
PIvT 0

A%‘
o 50
e 10°
e 150
e 20°

Correct Answer :-20°
64)
Question Stimulus :-

Magnesium hydroxide, obtained when Magnesium oxide is dissolved in water is / ATHfRmEH Gﬁla'\‘l'lgg &

U § geF W UTE g3 ARG g iadiss @
® Abase/Ud &R



® Anacid / Tdh 3AHT

® Anindicator / TP JdP
* Neutral / SEGRIIT

Correct Answer :-Abase / T® &R

65)
Question Stimulus :-

The chemical name of quick lime (Chuna) is / @Rd I )TAT (HT IS 99 &
® Calcium Hydroxide/aﬁ%{mﬂ 313@3'&133’
e Calcium Oxide / SfeRTaH TS
® Calcium Carbonate / FfRIH FEHe
® Calcium Sulphate/m Jebe
Correct Answer :-Calcium Oxide /%o‘%zrm:r Gﬁ’?\‘ﬂg@'

66)
Question Stimulus :-

A strong acid known as the “King of Chemicals” is / dg Udd 3+ S I BT IS Do dldl %

® Hydrochloric acid /E@ﬂﬁﬂi ST
* Sulphuric acid / TERIR® 317

* Nitric acid / TTSfe® 3

® Phosphoric acid | BIEpIRG 3

Correct Answer :-Sulphuric acid / GCRIRS 37T

67)
Question Stimulus :-

How many strands is a normal DNA made of? / I SITAT fae Idgal A a1 gl 4
e 1

° 2



e 3

e 4
Correct Answer :-2
68)

Question Stimulus :-

Which structure stores food in a dicot seed? P9 A/ I g AWl & HISH BT HSR Pl 282

e Cotyledons / ®ifedisd

* Endosperm / ’J{UTlﬂ'q
* Radicle / TaIHpx
* Plumule /Wi$R

Correct Answer :-Cotyledons / ®ifeaied

69)
Question Stimulus :-

How many molecules of ATP can be produced in the cytoplasm by the break down of 10

:%egules of glucose? / HIRFHIga § TN & fFa- V], TGHIT & 10 AU & fTUSH GRT IUT &
?

e 30
° 40
e 10
e 20
Correct Answer :-20

70)

Question Stimulus :-

Which is the Metabolic reaction involving Oxygen and Glucose? / ?g_*l'ﬁ' q w19 Iurg=dt ufafear % forad
SfRiieH 3R 7@ iw siafifed 82

® Photosynthesis / UPIRI =AY

® Krebs Cycle /aﬁﬂ CED



® Gycolysis / mﬁlﬁm

® Respiration / 4394
Correct Answer :-Respiration / 439
71)

Question Stimulus :-
An ornament contains pure gold aqd copper ip the ratio 1:9. What is the percentage of pure
gold in the ornament? / T® 3TYYYT ¥ Y[ T TS diaT 1:9 & JUTd & 31 TYWUI § Y[ WA FT
wfa=ra &7 82

e 11.1%

e 51.1%

e 33.1%

e 90.1%
Correct Answer :-11.1%
72)

Question Stimulus :-

The average salary of all employees in a factory is Rs 5000. The average salary of 12
engineers is Rs 7500 and the average of the rest is Rs 3500. What is the total number of

employees in the factory? / T&% HREM d W FHARG! B 3T 3T 5000 FUTC 1 12 RT Bt
%%rr?anoow%aﬁWm?ﬁTﬁaﬁeﬁwm 6000 ¥UT 3| $RAM H HHANE! Bt A IS
* 30
°* 3
* 35
* 38
Correct Answer :-32
73)

Question Stimulus :-

The ratio of the ages of Suresh and Ramesh is 4 : 3. The sum of their ages is 21 years. The ratio of their ages after

6 years will be: / YT 3 THRT B AT BT JUT 4 : 3 81 SAP! 3T BT TRT 21 T B 6 ATA qTG STHT 3T
BT 3UTd BIII:



® 3:5
® 5:3
® 5:6
® 6:5
Correct Answer :-6:5

74)

Question Stimulus :-

The ages of Nelson and Michael are in the ratio of 3 : 5, after 9 years, the ratio of their ages will becomes 3 : 4, the
present age of Michael is: / eH 3R HISHA ®I MY 3 : 5% JUTd A &, 9 TS TG, STD! 3T BT SFUTd 3 :
4 Bt SITQ, T § HIsHd 3t I §:
e 12 years / 12 CL
e 15 years / 15 CL
e 18 years / 18 CL
e 20 years / 20 GL
Correct Answer :-15 years / 15 CL
75)
Question Stimulus :-
6/9h of 81 is / 81 BT 6/97 2:
e 38
e 54
s 64
°* 7
Correct Answer :-54

76)

Question Stimulus :-



Five sixth of 600 is how much more than one fourth of 400? / 600 T UId TST, 400 P TP AAUTE A fra- ifip

2

* 300

® 400

® 500

® 600
Correct Answer :-400
77)

Question Stimulus :-

In a 10 kg ghee pack, 60% is pure ghee and 40% is vanaspati. If 10 kg of pure ghee is added, then the percentage

of vanaspati is / T% 10 f¥al @t & 9% §, 60% = WY Td 40% =iy g1 afe 10 fFrar s o AeT
ITdT 8, 99 awfd T ufa=d @

® 15%
® 25%
* 20%
* 30%
Correct Answer :-20%
78)
Question Stimulus :-

Fill in the missing alphabets / & 3f&R HRT
__bbaa__bbb__a

® b,a,a,a
® ab,b,b
® ab,ab
® b,a,b,a

Correct Answer :-b,a, a, a

79)



Question Stimulus :-

36% of 200 is / 200 T 36% B:
e 7
° 8
° 98
° 68

Correct Answer :-72

80)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 IR vl & ¥ 99 1 1 RA 10 1d & vwpeH I 8] 82

Western Carolina Paddlers
E-Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258-8806

(i) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541
Asheville, North Carolina 28814

(704) 258-8806

(ii) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541

Ashaville, North Carolina 28814



(704) 258-8886

(iii) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541
Asheville, North Carolina 28814

(704) 258-8806

(iv) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541
Asheville, North Carolina 28814

(704) 258-8806

® j

® iii

® iv
Correct Answer :-ii
81)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one

given below? / ¥ IR yal # & #19 91 t& 1 f3d T ya & tHeH GHIH T8 82

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637



(i)

(iv)

(iii)

(iv)

® ii

ii

iv

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81802

(800) 426-7637

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637

Correct Answer :-iii

82)

Question Stimulus :-



A train shuttles between stations A and B, and stops at 5 intermediate stations for 5 mins each. Assume that the
stations are at equal intervals of 10 km, and the train is moving at a speed of 50 kmph how long will it take to

B 0% Ugd # fa=T1 69 T

* 85 min /85 fAmIe

* 97 min/ 97 fiFE

* 60 min / 60 fiE

e 72 min/ 72 fiFE
Correct Answer :-97 min/ 97 fiFie
83)

Question Stimulus :-

A person bought a motor bike at the cost of Rs.55000 after one year he sold it for Rs.44000. What is his loss
percentage? / U STHRT - ¥UY 55000 B HIAd U TH HIeX 915D WiIdl TH 94 & UYTd S9-S0 &Ud 44000
# 39 RRan 39F Jeam &1 ufawrd fean 82

°* 10 %

e 20%

°* 25%

* 30 %
Correct Answer :-20 %
84)

Question Stimulus :-

Find the next term in the series 3,5,9,17,33, / RGeS W SATAT UG JTd BT 3,5,9,17,33,
° 49
e 48
° 63
° 65

Correct Answer :-65



85)
Question Stimulus :-

Find out the wrong term / TTdd Uq ITd aﬁﬁl'll{

112,114,120,124,132,142,154
° 114
* 120
* 124
e 132
Correct Answer :-120
86)

Question Stimulus :-

In a certain language ‘lik lomb lyns’ means ‘that great poet’ and ‘vomb lomb
fomb’ means ‘god is great’. Then in that language the word ‘lomb’is used for: /
ot @ YT # 'lik lomb lyns’ &1 Ad@d & ‘that great poet’ 3R ‘vomb lomb fomb’

P1 HdAd 8 ‘god is great’| a1 3 HINT H TS ‘lomb’ SHS 1T UURT gidT 8:

® poet
® that
® god
® great
Correct Answer :-great

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /- feard T wu | STe Gﬂw 39 #t grfiz

ol 1 ol 1o ol 19 O8O
00 00 eCe L Jol |
o0 ée8 00 o] 1

1 n 1 w



CeO
L Jol
ol 1o

000
o] 1o
000

OeO
OO0

Q00
ol 1 ]
000

OeO
L 2ol
OO

Correct Answer :-

88)
Question Stimulus :-
Six individuals, A, B, C, D, E and F are in a park. B and D are the daughters of C’s father;

F is E’s sister; C is the only son of A’s uncle; and A and E are brothers. / 9% ?ﬁ"T,
A,B,C,D, E3RFTS A ATIBIIRD, C, ¥ Aar A R &; F, EN 587 8; ¢,
A P 3Pd BT SHAlAl 92T 8; 3T A 3R E UIE &1
How is D related to A? / D, A & &d Jdfid g2
e Cousin / Tl 984
® Brother / HT§
e son / §eI

® Uncle / 3{®d



Correct Answer :-Cousin / T3 9849

89)
Question Stimulus :-
An individual, S is the sister of M and T is M’s son. Another individual, R is a doctor
employed abroad. / T® ?ﬂ%, S, M aﬁm% Gﬁ?T, M WQET%I U gl
=fdd, R faew & sria sfae? 21
Statement: S is the aunt of T. / Y: S, T B 3t &l
Is the above statement is correct? / TT U qTAT HUT Tl 82
* Definitely true. / Ff3d 7 & T
® Definitely not true. / fafda v 3 9« T-I?TI
® Possible but not certain. / HHd Afp Ffdra =gt
® They are not blood relatives./ d I & Wt =gl §1
Correct Answer :-Definitely true. / fAfia ¥u & 91
920)
Question Stimulus :-
A is the brother of B. B is the brother of C and C is the husband of D. C is the
father of P. How is D related to P? / A, B ®T HT§ 81 B, C &1 YT§ § 3R C, D &1 ufd g1
C, P &1 fiar 31 D, P & & ddfta g2
 Daughter / 981
® Daughter-in-law / g
® Mother / HT<T

® Sister / dg

Correct Answer :-Mother / HTdI

91)
Question Stimulus :-

Which of the following is the mirror image of COFFEE? / ffada P AT COFFEE BT a'thT IGICES] %?



EOCCEL
EVCEOE

OEEICE
COEEEE

COEEEE
Correct Answer :-

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second
word. If the third word has to have the similar relationship with the fourth
word, the fourth word will be: / 9 Uy #, Ugd Weg T GHR Weg & ATY_ W UHR A
PIs JaY g1 Tfe TR g BT A Weg &b 1Y I UPR BT AGY T AMRY, oY AT XS I

Square : Four :: Decagon: ? / @ : 9RR :: GAY : ?
* six / B8
® Eight / 36
® Ten / @
®* Twelve / dRE

Correct Answer :-Ten / @9

93)

Question Stimulus :-
In how many different arrangements can S men and 5 women sit around a table so that no two women sit
together? / T Aol & SIRTUTH 5 T8 U4 5 Algenaii ) 339 0vg A 38 & fore % g afgemy @y = 83, fram
TSR BT ATRITE BT &1 HHl 52

® 2880

® 2520

® 5040

® None of these /Eﬁﬁﬂ“ﬁ'ﬁcqﬁ



Correct Answer :-2880

94)
Question Stimulus :-

A man started walking towards the sunset. He walks for 5 km and turns right. He walks
for 3 km, then turns left and walks for 3 km, and then again turns left and walks for 3
km. Finally, he turns left, walks for 6 km and stops.

What is the distance between his starting and stopping point? / W\'ﬂﬁﬁ quﬁ?rﬁ 3R WQET%I dg 5
et Terar & 3R o gea1 81 9 3 Tt gaan 7, fpr 918 goar @ sk 3 fortft = 8, ok fred Il
gedT g 3R 3 {5l gaar 81 oid #, 98 I8 gedt 8, 6 fomft aaar 8 ok T&ar 81 Ry 3R sifow fig &
o o gt = 2

® 4 km

® 2Kkm

® 3 Kkm

® 1Kkm
Correct Answer :-2 km
95)

Question Stimulus :-

CANCELLED

Bhaskar lives in a house that has the main door facing east. He moves out from the backside of his house and walks
straight for 50 m. He then turns right and walks 50 m again. Finally, he turns towards left and reaches a park after

walking 25 m. Find out in which direction is Bhaskar from the starting point. / HIRPY Q'\Q' WA edl % forad ST
&R 1 HE 39 &1 3R 71 98 W 1 §id & o | a16x orar 3 3R 50+ wHen gere o) e ag s gsa @
3R g: 50t Taar 81 oid §, a8 arft o gsar 8 iR 254 e F a1g AgE ® ugTdr 81 yar ensy %
TRY fig ¥ YRR & A fa=m & 31

® north-east / STR-Rd

e north-west / 3a3-Uf$H

® north-west / IWR-UiH

® south / E'F&I'UT

Correct Answer :-north-west / 3WR-Uf3H

96)

Question Stimulus :-



Select the statement, which is the logical equivalent to the given statement. / 9§ ®Yd ?{ﬁ'&

St 9 ot 2R A A T FYT F 99 3:
“Jill is not a boy, and Jack is not a girl.” / “f5rd T @SH1 T8I 8, 3R S TP ASH! T8 §1”

° JiIIisnotaboyorJackisnotagirl./mWﬂWqﬁ%mﬁﬂ?wmqﬁ%l
° ItisnottruethatJiIIisaboyandJackisagirI./ﬂ?wqﬁ%ﬁ?ﬁﬁwm%&ﬁ?aﬁwm%l

® [tis not true that Jill isaboyorJackisagirI./ﬂ?ﬂﬂﬂﬁ%ﬁ?ﬁﬁtﬁ?m%m%Wﬁ%ﬁﬁ%l
® None ofthese/ﬁﬁﬁﬂ”ﬁgqﬁ

Correct Answer :-ltis not true that Jill is a boy or Jack is a girl. / d8 I T-Iﬁ % fo fora Udh dS DI % qT WP
TP dsH! 2l

97)
Question Stimulus :-

Select the statement, which is the logical equivalent to the given statement. / dg %Y i[ﬁ'a
St ad @ =R A A T FYT & 9HH B:

“It is not true that Jim is playing golf or Mary is playing tennis.” / “Ug 9d gl g f& 5 Mew
Qd T 8 a1 A A | @ R

® Jim is not playing golf or Mary is playing tennis. / forq Mew L) ad el % 7 #¥ o |@w LE| %I
® Jim is playing golf and Mary is not playing tennis. / fora Mew @ el % 3R A9 qﬁ od ?ﬁ %I

® IflJimis n%t playing golf, then Mary is not playing tennis. /?-Tﬁ' o Mew T'|é>f od el %, a A ¢t qﬁ
Wd a7l

® Jim is%not playing golf and Mary is not playing tennis. / fora Mew L) od el % MR A e LI o
el 8l

Correct Answer :-Jimis not playing golf and Mary is not playing tennis. / o Mrew T-I'Eﬂ Qqd el % 3R 7
e =1E Qe T R

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / g fawe qﬁlﬁ
< fad A BT R el & aR F 98l §:

Statements: / ®Y:
Some threads are candles. / $© 4N AGREAl 1
All candles are guards. / Tt Aivafmr e g



Conclusions: / fAwsd:
I. Some threads are guards. / $9 YT &P ?I
II. All candles are threads. / O Hiwft@l 4rf g1

® Only conclusion I follows / Had fAsed 1 AP adar %

® Only conclusion II follows / pad ey 11 Aeadan %

 Both conclusion I and II follows / s 1 3R 11 @Y e &

e None of the conclusion I and II follows / sy 1 3R 11 A & 15 W 78 Rpaar g
Correct Answer :-Only conclusion I follows / ad forspYy | feaar &
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fdwe g3
i 3 T FyET R el & IR F 9 @

Statements: / $Y-:

All novels are typists. / 4 3T Bl €1

Some novels are not boxes. / $T IUATH T4 8! ¢
Conclusions: / fAw:

I. Some typists are not boxes / $9 E'Isﬁﬁ' TN Hﬁ%l
I1. All boxes are typists. / 93t 96 ersfiRe g1

e Only conclusion I follows / ad frepy | fAewear g

® Only conclusion II follows / *ad e 11 fAeadr %

e Both conclusion I and II follows / st 1 3R 11 @Y e &

® None of the conclusion I and II follows / frs®d 1 3R 11 A | #1g W 98 Fpaar g

Correct Answer :-Only conclusion I follows / Fad e 1 Feadr @

100)

Question Stimulus :-



Select the option that is true about the Statements and Conclusions given: / dg faweu ﬂﬁ'a
St 3 T YA 3R el & I F I @

Statements: / ®YH:

All trolleys are daughters. / T} eiferar afear g1
Some windows are trolleys. / $© f@sf®ar cifear g

Conclusions: / fepd:
I. All windows are daughters. / I fQsfear afear €1
II. Some daughters are windows. / $© dfeal fasiear g1

® Only conclusion I follows / Had e 1 Reddar %

® Only conclusion II follows / FHad e 11 fAeadr %

e Both conclusion I and II follows / fAssd 1 3R 11 aﬁT-ﬁ fAead %

e None of the conclusion I and II follows / fFrs®d 1 R 11 & 4 aﬁé f Hﬁ Aeadar %

Correct Answer :-Only conclusion II follows / Fad sy 11 FAeadar 2



